Check for Understanding: Objective 3 Air Pollution Issues  
[bookmark: _GoBack]Some scientists estimate that by 2025 over 60 percent of the global human population will live in urban areas. Urban residents experience a variety of problems related to the physical environment.
a) Describe how temperature of urban areas like Atlanta, Philadelphia, and Chicago differs from that of surrounding rural areas.
b) Identify and describe TWO differences between urban and surrounding rural areas that contribute to the temperature difference between them.
c) Urban areas typically have levels of air pollution that are significantly higher than those found in surrounding rural areas. Identify a characteristic of the urban microclimate that leads to higher levels of air pollution and describe how that characteristic contributes to the increase.
d) Identify and describe TWO actions that local governments in urban areas could take to reduce outdoor air pollution.
